ERSAROREERT —I X—RIBIST—F

202358108 (K) 20KXH3H

m Rwoz . /—8 C1Z=M 9>5F%—H% ‘(fﬁ} B ‘I%EH?’JF&] - | & 14000 B
[AXE%) 1 %:1,200,000  ~ 237&:480,000 9  33#%:300,000H . 43#&:180,000 5 & :120,000 /9
BESS/ HE | BE (FB) [91L @2 | BBIEG | LF[SER | AR | #E | 786G FB) / B / £&ERS
IZAFUTSIY # 5 ggigﬁz 1:(26).4 9866 |36.8| — 1 501 ;%Z Eﬁ(x#)
RTAKD—YF— BURALFA— ) | g s
=)\ B4 | AEEX 1:26.5 222 [37.6| — | 12 | 458 |FELLBSEE (AR
I 56.0 GE) ) |8 TU=>T7—n
RiPAINTTFH— B IAVIYNIN H B
o NI ARSI 1:26.8 4-5-3 375 — 3 478 | ZAEFE (KFH)
RN)IW—TH V5T — # o4 S5t
: (1 3/4) ~ =iREt
RiFARTU— by b B /0T O Ve mews
~ S %5 | HFRY 1:26.9 14-13-11 [36.8| — 2 522 | 28R (KH)
/V\I’fJ‘JT"?/ 56.0 @) (27) | FIEESE
RiFRF BiR—LRA—NR—L FREKS
~ Sy R to4 | SHEMR 1:27.2 34-4 379 — | 11| 461 |KEEH KH)
?:;t;( j_t v I\ o .0 (112 +9) /@E?I
R:HTFOI— B:AYOY—S RITERIS
=RV LL s 7 | BIHEHR 1:27.3 11-11-10 |37.4| - 8 476 | BRIEX (KFH)
6158772 b 0 ) G | ) RER-2057
Riko¥oO0—U— B:FLSELF—F HrEIHS
71111 1=Z¥/220€ 5 | BIR (1:27.5) -1-1 387 = | 4 | 4% %mgm (1)
- = . 11/4
RIPVFIIZTVA B T4 — KX — (O ===y S0
sl ¢ | R9—2TT142 AR (1:27.5) 13-12-12 [37.4| — | 9 | 447 qﬁ’@?ﬂﬁ KH)
o 7I< 2
RIIIUITYE BLFFLYT ’ ® s s
9 4 NAFHITSZ 4 4 ;é;-%% 1(:27.55 5-6-7 | 38.1| — 6 513 EEEE (KFH)
. NF - =
RFPIPIIRATUVR #:FzU—ERF(— (-3) U"Scu#&zii—
10 ) | NILLTTUTR 44 ﬁﬂaﬁi 1(:27.? 8-9-9 [38.0| — 10 | 487 Eaﬁjfgg@(d\m
B JE = ZLIR
RNMTSY 8Ly RIF—F1Y D | gy
111 8113| ZNwNO—-X # o4 | FREA 1:(28).9 12-14-14 |38.5| — | 5 | 504 g.ff% (K3
. 6, _ RelL/K
RFARTU—RFryh BTSyIVIH— O | Krumnn
33 8 4 | fPERAE 1:29.5 7-7-8 39.9| - 14 464 | KE=EM (KH)
125|700 I\izt{/ 274 _ #53.0 ® 4 |EFES_
S5— B:EYIFUIR J—HUTr—I
1317|112| NPV bRV a Yy # o6 | TIHES 1:(3(;.3 6-35 |41.2| - | 7 | 503 ﬂ%gg (k)
. 4 _ o AR
LRAREFY OV RITS 2 da57—5
N DS PR o4 | BEFE— 1:31.4 9-10-13 | 41.5| — 13 536 | ILfEfE (AH)
14| 8 |14 ZD - Ii/If I\_ o 56.0 ® PN
RIET 747 B:R—YULITVR BT 7—L4A
@ 11— —BRIEfI
13—7F—
20—F— 1,3,5,11,4,12,7,2,(10,14) ,8,13,6,9
30—7F— 1,3,12,5,11,4,7,10,2,14,8,6,9,13
40— — 1,3,11,5,12,10,4,7,2,8,9,6,14,13
o ILRE
BB 10 170 | | 94 & 3-10 2,620H & 3-6 1,540 3EE | 3-10-11 12,440/
B B 10 1109 10-11 2504 B 6-3 2,250 3Es 10-3-11 45,080M
3 1,270 3-1 5,530 5 & 3-10 6,460
1 180 =51 10-3 8,670M

ABIC DOV TRHUTEREERRODDZ. THIBLIETL



